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(1) AREhER
_ gl . B BUEH & () il
No| FHEERA BEE-HFRFORKTH omm | B BRiTHE wER |BEasen| B
DL |ontRE| K
| 1] ZEMGE (FE(—K&-F5)) aF | 1EE 250] 280 12%
[ 2 | ZEMGE(FEUNZEUT -RZE-SRE) | &8 | 185[8 120] 130 8%
E ZEHMLE (2@, —#-F45) HA | 1BERS 500] 550 10%
[ 4] SEHMEE (ZECZEUT -FEE-SRE) | 58 | 1B[8 240} 250 4%
[ 5 [AEmRY |2 ENLE (RREEE) () &% | 18RS 350] 520 49%
[ 6 |E % BRILIS (R (£H) &% | 18RS 700] 1,050 50%
[ 7| T=RI—b(@E. —f§-2H5) HF | 1BRS 200] 300 50%
[ 8 | TZRA—FOENZEUT-F2E-SRE) | &8 | 16RE 100} 150 50%
[ 9| T=Ra—+GRREIRR) (&) BRE| 18569 200] 300 50%
10 Sx7— E@RE| 10 RELEL 100 —
| 11 ABHERIRLELMEAS 00~ 12:00—-24) | [H A SR 2,4008 2,500 4%
[ 12] AsmsEmaLs Bz~ 2n [ B | SRR 4,000} 4,200 5%
[ 13] AsmsEsaLs BT~ 0—g2n [ B | SRR 4,000} 4,200 5%
[14] ABHEERLGVBA (—B-25) | 548 | 16506 800} 850 6%
i ABHESIRLELES0 0~ 12: 00k | A SR 1 ,200' 1,290 8%
[ 16| L BE 0~ | B | SEERY 2,000 2150 8%
17 ABHERRLELER T 0~ 2 025D | (H A 5 RS 2,000 2,150 8%
18] e [EHERBULBEGEELT | HF | (B 400} 430 8%
[ 19 AppEtRTpBaso~z0—2s | B | 3 7,200} 7.650 6%
[ 20 ABHERIRT pEA 120~ 1T:00— D) | 5 5 RS 12,000] 12,750 6%
[ 21 ABHERIRT pE AT 0~ 2200~ 50 | HA 5 RS 12,000 12,750 6%
[22] ApHzEERT S (—R-25) | 5F [ 1850 2,400] 2,500 4%
[ 23 AppEtnspaso~zomein® [ HEH | 3R 3,600} 3,840 7%
[ 24] FEERIS ABHEBRT 55 812:00~1T:0REEUT) | 5 5 RS 6,000| 6,400 7%
[ 25| ABHERRTOBE 0~ 20052 | (HAg 5 RS 6,000| 6,400 7%
| 26 AGHEHINT 258 (h2ELT) | HF 185 1,200| 1,280 7% =z
[ 27| ABHEBRLAENES:00~12:00( H& | 38R 9,600} 10,200 6% "
28] ABRERRLGLBE0~17:00] 5 | GEERN 16,000 17,000 6% |
[ 29 ABHERBLLGVBA1T:0~22.00) HE | SEFRY 16,000f 17,000 6%|
30 Fous AFHERMIBLAWMES | &% | (B 3,200] 3,400 6%| ro
| 31 ABHEYMINT 51589:00~12:00] HEF 3RS 19,200] 20,400 6% =
ﬁ AGHEHINT 515E12:00~17:00 ﬁiﬁ 5E§F5ﬁ 32'000| 34,000 6% =
| 33 ] ASHEBINY B15&17:00~22:00| HA 5RERS 32,000 34,000 6%| ®
EZl o AGRERIRT 5158 Hh | 1BERS 6,400] 6,800 6%
[35]™F KBRS ER (/3L TF) L] cEEAD/|EEEADI/3 —
[ 36 | KRB ER (1/3~1/2) a8 SEEAD /LB ERD/2 —
[ 37 HEEBSER(1/2~2/3) af cEERAN2/LEERAND2/3 —
38 ABHEHIRLEOMEE9:00~12:00 HE 3RS 400| 600 50%
39 ABHERBLBLEE 2.0~ 1700 B | GEERY 800] 1,200 50%
[ 40 ABHERBLONBA17:0~22.00] HE | SEFRY 1,000] 1,500 50%
[ 41] 5o [ABHEMBLAWMES | &% | (B 200] 300 50%
| 42 ABHEMINT 51589:00~12:00] HEF 3RS 1,600] 2,400 50%
[ 43 ABHESIRT 25E12:00~17:00| H&HF | SR 3,200} 4,800 50%
[ 44 ABHERINT 2BA17:00~22:00] HE | S5EFRY 4,000} 6,000 50%
[ 45 ABREBIRT 5158 HA | 1S5RS 800] 1,200 50%
| 46 ABHEBIRLEOMES9:00~12:00 HH 3RS 37300| 5,700 50%
47 1 e AmHERLGNES12:0~17:00] 5EF | SEERY 6,400] 9,600 50%
48] e 1&%52*% ABEERRLENEAT.0~22.00| 5 | SEL 8.300] 12,450 50%
[ 49 Fopsh AFHEBMIBLAWMES | &5 | (B 1,600] 2,400 50%
| 50 ABHEBIRT 51589:00~12:00| HFH 3RS 7,600| 11,400 50%
51 ABHEBIRT BBA12:00~17:00) HF | SRR 12,800f 19,200 50%
52 ABHEBINT B5A17:00~22:00) 53 | SEFA 16,600f 24,900 50%
53 ABREBIRT 5158 HA | 1S5RS 3,300] 4,950 50%
[ 54 | BEEESMER(/3LUT) =Tl SEERD1/2EERNDI/3 —
[ 55 | BEEESER(1/3~1/2) aa SEERAD/2LBmERDI/2 —
[ 56 | HEEMMER(1/2~2/3) =k SEERAD2/|EEiEAN2/3 —
57 SELAEWNMEE (—RRUVFE) BA | 1A-1E 100} 150 50%
58 SELEVMEE (FEELUT) BA | IA-1E 50} 70 40%
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. BEHE () i
i BE-BREOLH omm| Bt | Bone T e |nases| €
o¥EeE |corsx| R
ABHEBIRLELES0:00~12:00( HE | 3EERY 300] 450 50%
ABHESRLGVNEE12:00~17:00( B | SEFRY 400} 600 50%
AMBHESMRLGLNEE1T:00~22:00( HE | SEERY 600] 900 50%
S ASHEBRLLZVVES | &8 | (165 100] 150 50%
ABHERRT 51589:00~12:00) HF | 3HER 600] 900 50%
ABRERIRT 258 12:00~17:00( HE | SEERY 800} 1,200 50%
ABHERRT 5BE17:00~22:00| 5 | S 1,200} 1,800 50%
ASHEBIRT H5E HA | 1EERS 200] 300 50%
ABHEMRLAENESE:.00~12:00] HH | 3K 1,100] 1,650 50%
o ABHERRLGBA12:0~17.00] 54 | SEME 1,900] 2,850 50%
%Eﬁ% NBHERRLANEA 7. 00~22.00| 58 | SEFE 2.400] 3.600 50%
P25t ASHEBRLEVVMES | 58 | 165 400} 600 50%
ABHEBIRT 55589:00~12:00| HEF SR 2,200| 3,300 50%
ABRERRT 258 12:00~17:00( HE | SEERY 3,800] 5,700 50%
ABHERRT 25H817:00~22:00( HE | SEERY 4,800] 7,200 50%
ANSHEBIRT H5E HA | 1EERS 900] 1,350 50%
SEESOER(1/3LUT) =kl S>EERO1/PLEERD1/3| —
SEESOER(1/3~1/2) 58 cEFEROI/ QT ERDI/2 —
SEEHSFER1/2~2/3) aE sEERN2/2mEERD2/3) —
HELEWNMEE (—REUVZEE) BA | 1A-1E 100} 150 50%
HELEWNMES (FZEELUT) BA | 1A-1E 50} 70 40%
ASHEMIRLAELMES9:00~12:00| H& SRR 200} 300 50%
ABHEMIRLELMES12:00~17:00 H&F 5 RS 300} 450 50%
ABHEMRLGVNEE17:00~22:00( HE | SEERY 400} 600 50%
< ABHEBRLEVVMES | 58 | 165 100} 150 50%
2818 ABHEMINT 51549:00~12:00] A& SRR 400] 600 50%
= ABHERIRT 5BA12:00~17:00| 5E | SEL 600] 900 50%
ABHEMRT2BE17:00~22.00 HFH | SERHE 800] 1,200 50%
ASHEBINT HEE HE | 1B 200] 300 50%
HELEWNMEE (—REUVEE) BA | 1A-1E 100} 150 50%
HELEWNMES (PZEELUT) BA | 1A-1E 50} 70 40%
BEKREE ABHEHINLAELNES9:00~12:00] & | 38R 200} 300 50%
ABHEHILEMER12:00~17:00 & | S55RH 300] 450 50%
ABHEHILAMER17:00~22:00 & | S55RHE 400] 600 50%
e ABHERRLENSS Gf | 1BRR 100} 150 50%
=E ABHZHIRT 555589:00~12:00] &8 | 3850 400] 600 50%
ABHEBINT 515512:00~17:00] 58 | S5 600] 900 50%
ABHEBINT 515517:00~22:00] 58 | S5 800} 1,200 50%
ANSHEHINT HI5R HE | 1B 200] 300 50%
F—— 0 R (—RREVEHE) BA [1A-1E 100} 150 50%
Fo—=2 5 = (B35 11458R) EA 1,000} 1,500 50%
R—E =S4T - ABHEHRLAZVNVES) [#HaZ] 113 370] Bl B& —
R—F =S4T - ABHERNT S5S) ERZE] 110 750] Bl B& —
R—F =S (7 <LV ERE[1X-1H 750} HIRR -
=) SANT R ABRESRLEWNVES) [BRZ| 1X-10 370] Hll B —
=) SANT R ABRESRTEES) |[ERZE| 1X-1E 750] Hll B —
=) TSR (7T LISY) ERE1X-1H 750} HIlBR —
R URSAMNT R ABHEHRLEVNVES) [BRZ| 110 220] Hil k& —
R URSAMNT R ABHEHINT Z5E) ERZ|l 110 450} Hil k& —
108] KUYV ISR (TS BRZE 1K1 450] Hl B —
[109] YAFR RIS/ TR ABHEMBLAVNVES) | HER%E| 1K1 370} HIBR -
[110) YARRRYNSAMNT I AGHEEHINT 5158) | EaZk]| 110 750} Hll iR —
[111) FARRRYFFA (7 LY A RERIE 750} RIRR —
[112] YRR IALUSANT R ABHERERLAVES) [BRE[ 113 220] Bl bR —
[113] YRRV S (TR-ABHEBRT 258 (2% 1X-10 450] HIBR -
[114] YRRV SN (TILS) R 1X-10 450} HIBR -
[115] RAT—UFANFR-ABREBRLENMES) | #RZE1X-1m ] BELL 550 —
[116] RAT—UF1N (TR -AGREBIRT 5158) ERE(1X-1Em] |WELGL 1,650 —
[117] AT—UIARTRUS - AEHEBRLEMES) | E&E | 1X-1[ HELL 2,200 —
118 AT—U5AMNTIUSN - ABHEBINT 58) | Ba%] 1X-13 IRELL 4,400 —
[119] 727 (RA73FME) T3 ABHEHRLLVES) | BRE | 14810 1,120} HIER —
[120] TUT (RAVIFMAE) (F-ABHEBRT 258 [HR%E| 1&-1E 2,250} HIBR —
121 T T (RAGIRAE) (7 LY BERZE| 1511 2,250] Hl B -
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. SR () AT
No| FHEERA BEE-HFRFORKTH omm | B BRiTHE wER |BEasen| B
DL |ontRE| K
[122] TAVLAIA(Y (FR-ABHREBRLEWNGS) | BRF| 1A-1E 150] HIlBR —
[123] DAVLAIAY (- ABHEBRT 515E) [BRE[ 1410 300} HIlBR -
[124] DAYLRIAH (TSN R 1A-1E 300] il —
[125] La—FILAY— (T ABHEBRLAZVNES) [BERZE[ 1410 220] il —
126] LI—FILAY— (- AGHEBRTSES) | BRE| 15-1E 450} HIlBR —
[127] La—FILAY—(FILD) ER%E| 1516 450] il B —
128] T—ILa—4— (T2 AGHEBRLEVES) | Ha% [ 1&4-1@ 220] HIlBR —
129 T—ILa— 42— (72 ABHEHMRTEEE) |EHa%|[1&4-1@ 450} HIlBR —
[ 130] FT—ILa—F— (T ER%E| 1516 450] il —
131 ML (72 - AGRERIRLAEVES) meE| 1X-1E ] FAELGL 1,500 —
132 BOEER IR (77 AlGREBIRYT 5158) ERE|1X-1E HELL 4,500 —
133 ML (7 U - AlBHEHRLENES) |[BRE[1X-1m ]| |ELZL 6,000 —
134 MEER i (7S - AR E I 515E) meE| 1X-1E ] FEELGL 12,000 —
[135] E7 /(73 - ABHERRLEVES) BRZE| 1510 1,500] AllBx —
136} E7 /(73 ABHEHIRT 5158) BaZE| 1510 3,000] HllBx —
137 E7/(7Us) BaZE| 1510 3,000] HllBx —
138 WFGARD - ABHZEENLAWNES) [H#SZ[ 118 20§ AllBx —
139] WT GAE) (7Y ABHERINT 5158) EmE | 1k-18 30] EIES —
140 LT GAED (FILSN) BR%E| 1518 30] HilBR —
[141] LT UARD (- ABHEHNLGMES)  [BeZE| 1#-18 10] HIl B —
[142] LT OABD (7R AFHEHIRT 515E) B2 1H-18 15 HIl R -
[143] W OARD (LY E&E | 1#-18 15 Hll R -
144 H(7X-ABHERRLEWNES) e | 15-18 20] Il BR —
145 (T3 - AGREHIRNT S5E) EmE| 15-18 40] Hll R —
[146] g3 g g [ R ELST) BeZE| 118 40] HilER —
[147]™ 5" PR S0 =73 ABHEBRLGEVER) ERE] 1@ 100} 100 0%
148] SrI—(FR-ABREHIRT 558) ERE| 1@ 100] Il BR —| %
[ 149] I — (TSN HR%E| 1@ 100= HIlBx d
150 R BN 58 | 1E-18 600 900 50%|
[151] MRS EES1 58 | 1E-18 300] 450 50% é
152] BB (7Y -IFERES) s | 18RS 2,000] 2,100 5%| g
153] BB (TSN - IFERES) s | 18RS 4,000} 4,200 5%| =
[154] AR (TR -2FERER) R | 165R 6,000] 6,300 5%
155] AR (TS 2FBRER) R | 165R 12,0001 13,200 10%
156} A (7 < 1-2FER) s | 18RS 8,000} 8,800 10%
[157] AR (TS - 1-2FE R R | 165R 16,0001 17,600 10%
158 BRE (77 -IFERES) s | 18RS 1,900] 2,000 5%
159 BRE (7L - IFERES) s | 18RS 3,800] 4,180 10%
160 BRE (7Y -2FBER) s | 18RS 5,000] 5,250 5%
161 BRE (7L 2FBER) BE% | 1B5RS 10,000f 11,000 10%
162 BRE (7Y -2FBER) s | 18RS 6,900] 7,590 10%
163 BRE (7Lt 1-2FRE) s | 18RS 13,800f 15,180 10%
[164] AR (T AREBERERE) B 165R9 350} 400 14%
165] AR (TN ABERERE) B 165R9 700} 770 10%
166 BE (T RREZREKE) s | 18RS 500] 550 10%
167 BE(FILUN- RREBERSRE) s | 18RS 1,000] 1,100 10%
168] BB (T INREE) fmam%E | 1858 50§ 60 20%
[169] AR (TSN INREE) B 16%5RS 100] 110 10%
170 BE (7Y /IREE) w1858 100} 110 10%
171 BE (7ILUSN - INREE) % | 1B5RS 200] 220 10%
172 KA BA | 1A-1E 300] 450 50%
[173|THSIE B2 waT—)L EARE - REE BA [ 1A-1E 200} 300 50%
[174] e INFHE BA | 1A-1E 100} 150 50%
175 BET—IL(EK) BA | 1A-1E ) | 120 50%
176 — £H 58 | 18568 400] 450 13%
(77| mEms |FmEmEs | BoEMI/20T| &A | 165E 200] 230 15%
[178| & WEE  [FREE-Fk (5875188 el S| 100} 150 50%
179 = EALGEVNMES [ A | 1A-1E] 50] Bk —
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. e ) BE R E () AT
No| HEER#A HEE-RREQOEM omm | B BITHE WER [BEiouen| B
e |oolmx| R
180] ZEIGE (CFE, —i&-25) a4 | 1B5RS 250 280 12%
181] ZEMLECGEE/NEEUT -RFPE-ERE) | &8 | 185 120} 130 8%
182] ZBEMEE (ZE. —B-FE) GE | 1B 500] 550 10%
183 ZEMLE (ZE/FEUT -RFE-ERE) | &8 | 185 240] 250 4%
184] £ BiIL5 (REEH) (FE) | 165R9 350} 500 43%
[185|FE P AR |2 H L3R (RREERA) (£H) BE% | 18RS 700] 1,050 50%
186} FT=RI—F(O@E, —#E-F5E) aF | 165RS 200} 300 50%
187] TZRA—FOEDPEUT-REE-S8E) | HF | 185 100] 150 50%
188] T=ARa—GRERER) (1E) % 165R9 200} 300 50%
189] TxI— ER%E| 10 REZL 100 —
[ 190) Y@ ER5E (BA) HE [ 1E-1B )] B|ELL 900 —
191 Y& ER5E (B4) HE [ 1518 RELZL 450 —
192] REE =k B 350§ 500 43%
193] £ BIEI aF | 165RS 100] 150 50%
[194| 2R—ya |ZEHIIE2 G | 165RS 100] 150 50%
195|122 =F vt [AIBXRE—H——HKETLT ERE| 1818 600} 900 50%
[196|~2— <47 ERE| 1X-1E 300} 450 50%
[197] JoozHs— R 1X-10 2,000} 2,000 0%
198 SxT— ERE[ 1@ RELZL 100 —
19(wEAE  |ZEMLES (RERH) ER%E| 18HE 350] 500 43%
200| B i &LNE| % B #ILE5 (RERE) ERm%| 165R9 350} 500 43%
201} ES T aF | 165RS 400} 450 13%
[202] S (B EA1/2LF) aF | 165RS 200} 230 15%
203\ =y e [BHEE-HERT-HER) -REED | 200} 300 50%
204] 2 ME1-HZE2-957F R | 150] 200 33%
205 = EE-F#H) (SALBWSS) BEA [ 1#8-1E 50] BIlBR —
[206] FL—=0F BEA | 1A-1E 100] 150 50%| R
207 ) — ERZE| 1@ HELL 100 — /T\
208 o EES H4E | 1B5RS 6,000} 9,000 50%
[209) ABHERRT S5 —per aF | 165RS 1,250] 1,850 48%| v
[210] - NEE-PFESRE | 5F | 165N 600= 900 50% @é
211 o L E S SA | 1B 1,050 1,550 48%| E
217 pEHERRLEL g 55 | B0 200 600 50%| 3
[213] - NEE-PFE-SRE | 5H | 165N 150} 200 33%
214 S Hh | 1BERS 750] 1,100 47%
215|05B5k15 BB ICEATIEE [—B-F4 aE | 165RS 200} 300 50%
[216] INPE-REE - ERE aF | 165RS 100] 150 50%
[217] EvFoiB0aERADIEE a5 1E 100] 150 50%
218 BE B e 5% s | 18RS 2,000] 3,000 50%
219 ILEEE BE% | 1B5RS 200] 300 50%
[220] Za7HR—K ERE| K8 400} 600 50%
[221] )5 BR 5T 5 a8 18 600] 900 50%
222 SxJ— HRE| 1@ BELL 100 —
[223] ABHEBIRLAVMEES | &8 | 1650 1,500] 2,250 50%
[224] e |[AEREBELLLBEGE)] &% | 18 10,000] 15,000 50%
[225] ABHEHINT Hi5E aE | 165RS 3,000} 4,500 50%
[226] . ABHEBRTZBE08)] 58 | 18 20,000 30,000 50%
227 PRI ASHEHRLAEWNES | 58 | 18/ 3,000} 4,500 50%
[228] Fopp | NEREBRLGLVBEGB)] &5 | 18 20,000 30,000 50%
229 ABHEHIT H15E aE | 1E5RS 6,000} 9,000 50%
230|055k £ ABHEBRTZBA08)] 58 | 18 40,000] 60,000 50%
231| B35 ERER T} + B4 B k4 080/1000 £ B 47 B %4 080/100 —
[232] AEE-SBE T | 50] 70 40%
233] AEE-2BEIH) a8 18 300] 450 50%
234 AH=E-LE=FHEHR T} + B4 B k4 080/1000 £ B 47 B %4 080/100 —
235] —BRUFE | BA [ 1A-1E 1ooi 150 50%
236 - TN —RRUFE | EHSE 1,000 1,500 50%
237 VI (ERLBLEE) BRELUT BA [ TA-1E 50] 70 40%
238 ERELUT EEES 500} 750 50%
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239 SEIEEE | 118 2,000] 3,000 50%
240\ =y e [BOEE wmE| 1=X-18 1,000] 1,500 50%
241) 50 23" [SrT— ERE| 16 100] 100 0%
[242] )5 BR T IS HE | 1E-1H 2,000] 2,000 0%
243 RERE (KBE-SBF1-REEF2) i f % | 122 - 1R 30= 40 33%
244 8 sy —i%-FE Sa | 1K 250 280 12%
225 SEMERHE) Teriy woE BRE| 55 | B 1zo= 130 g%
246 = —i&-FE SA | 1B 500 550 10%
247 SEMES(EE) Teriy woE BRE| 55 | B 240] 250 2%
[248] T—IL(KA) BA | 1A-1E 300} 450 50%
[249] T (BRE-FEE) BA | 1A-1E 200} 300 50%
[250] T—ILUNEE) BA | 1A-1E 100] 150 50%
[251] T—IL(BE-EIEEDHBIOALULDNEE) | BA | 1A-1E 80= 120 50%
252 a —i&-FE SA | 1B 750 1,100 47%
253 Hixta (2H) TEELT PEE BRE| A | 1BEE 370] 550 29%
254] BREIHE S ER 1/2LLF aE 2EERAD1/2] 2EERD1/2 —
255 TV A HE | 15&-1H 100] 150 50%
256 BELS (o = 10AF WRE| 158-18 1,500] 2,250 50%
257 7 6\ ERZ| k18 1,000} 1,500 50%
[258] — - FA aF | 165RS 200= 300 50%
259] . __ NFELUT-PZE-BRE] 5F | 1656 100 150 50%
260 i%EJJ'A TERA—ROE) oy B o 5 0%
261 R 1 BR B i A% s | 18RS 200] 300 50%
262] Appir [BE aF | 165RS 6,000} 9,000 50%
263] MRy s [—fR-FE aF | 165RS 1,250] 1,850 48%| o
264 58 [NPE-RFEE-SRE | HF | 1BE 600] 900 50%| 7o
265] ApuE [BE aF | 165RS 1,050] 1,550 48%| |
[266] L (AR -FE aF | 165RS 400} 600 50%| 1)
267 WaE [NPE-RZEE-SRE | HF | 1EE 150] 200 33%| 1o
268] mrpig  [EEIcE [BX aF | 165RS 750} 1,100 AT g
[269] A5t | —ik-24 aF | 165RS 200} 300 50%| =
270 a8 NFE-GFE-SRE | 5F | 1656 100] 150 50%
[271] EvF i B0AEADEGE a8 1E 100] 150 50%
272 R BRI EY s | 18RS 2,000] 3,000 50%
273 nLEEE s | 18RS 200] 300 50%
[274] Za71R—K ERE| K8 400} 600 50%
[275] Y5 BRE IS a8 18 600] 900 50%
276 5 ER5E (ESY) H8 | 1E-1B ) BELL 450 —
277] BRI (7. ABHE |[EEER1BEICOE 58 | 1ERE 4,0004 6,000 50%
[278] BRLGVNES R [ 2EER-FERICOE 548 | *H 14,000 21,000 50%
[279] —#-E) SEFEA-1BICDF 5 | 18 24,0001 36,000 50%
280] BERIE (T, AMBHE |EEEA1ERICOE EA | 1BERS 2,000} 3,000 50%
[281] BRLBWNES R [ 2EER-FERICOE 548 | *H 7,000 10500 50%
282] EREUT) EEFEA-1BICDF 5 | 18 12,000 18,000 50%
283] BERIE (T, AMBHE |EEEA1ERICOE EA | 1BERS 8,000] 12,000 50%
[284] BT Bi5a . N— [ZEER-FEAICOE a8 | *H 28,000 42,000 50%
2856/ 8- =t L |- F45) SEMERA-1BCDF 55 [ 18 48,000] 72,000 50%
286 71 7 SAO (g1 (7= . Atgpis [ZEEEA 1 BEICOE a8 | 18 4,000} 6,000 50%
287] BT BIBE. HRE [SEEA-FACOF 548 | *H 14,000 21,000 50%
288] BEUT) EEFEA-1BICDF 5 | 18 24,0001 36,000 50%
289)] BERIE (T A | EEEA1ERICOE EA | 18RS 8,000] 12,000 50%
[290] HEBELGVES . f|2EER-FAICDE 58 | *H 28,000 42,000 50%
[291] m) LEEA-1BISOE a8 18 48,0000 72,000 50%
[292] RIS (P LS. AS | ZEER BRI O 5H | 1ERS 16,000] 24,000 50%
[293] HEMINT 2BE. W [2EEA-FACOF 548 | *H 56,000 84,000 50%
294 m) 2EEA-1BISOE a8 18 96,000] 144,000 50%
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e |oolmx| R
[295] AT -BE - 1F§RIIC D a4 | 1B5RS 1,000] 1,500 50%
[296] AE-BE-#HIZD& 58 | *H 3,500} 5,250 50%
297 AE-BE-1HACD= af 18 6,000] 9,000 50%
298 B8 (72, Agsi% (CHE-DE- 1EHEICOF a4 | 1B5RS 800} 1,200 50%
[299] BIRLAZVMES iR [CHE-DE-FHICDE 58 | *H 2,800} 4,200 50%
[300) —R-FE) CE-DE-18[DF 55 | 18 4,800] 7,200 50%
301 Ef-FE- 18RS DS HF | 1BRS 200] 300 50%
302] EE-FE-$HIZDE &8 | ¥H 700] 1,050 50%
303] EE-FE-1BIS2F s5 | 18 1,200] 1,800 50%
304 AE-BE- 1BREICDF HF | 1BRS 500] 750 50%
305] AE-BE-#HIZ D& 548 | *H 1,750} 2,620 50%
306} AE-BE-1HIZDE s5 | 18 3,000] 4,500 50%
307 BEIE (7. ASglx [CHE-DE- 1BMICOEF HE | 1B 400} 600 50%
308] #BURLALVE S TR [CE-DE - FHICDE &8 | ¥A8 1,400] 2,100 50%
[309) BRELT) CE-DE-1H[DF 55 | 18 2,400] 3,600 50%
310 Ef-FE- 18RS DS HF | 1BRS 100] 150 50%
[311] EE-FE-$HITDE 548 | *H 350} 520 49%
312] EE-FE-1HITDE a8 18 600] 900 50%
313 AE-BE- 1BEICDF HA | 1BRS 2,000] 3,000 50%
[314] A -BE-F¥HIZDF 58 | *H 7,000 105500 50%
[315] AE-BE-1HIZDE H5 | 18 12,000 18,000 50%
316 sEipig (F2Llsh. A |[CHE-DE - 1KFFEIZDE 58 | 1ERE 1,600] 2,400 50%
[317] HEMIRLAVMSE . TH|CE-DE-FHICDE 548 | *H 5,600} 8,400 50%
318] m) CHE-DE-1HIZDZ a8 18 9,600] 14,400 50%
319 Ef-FE- 18RS D HA | 1S5RS 400] 600 50%
320] EE-FE-$HIZDE 548 | *H 1,400] 2,100 50%
321] EE-FE-1HISDE a8 18 2,400] 3,600 50%
[322] BERIE (T, AMBHE |ZSEEA1ERICOE HE | 16 6,000] 9,000 50%
323] BRLEWNES. H [ 2EER-FAICOF &5 | ¥H 21,0001 31,500 50%| R
[324] —#-PE) EEFEA-1BICDF H5 | 18 36,000 54,000 50%| 7~
525] .« 2ot [BEB = KipmE [EEER BRI DS & | 1656 3,000} 4,500 50%| |
326| S Sao|BBLALSE . Hist [SEEM-FHICOF 58 | *H 10,500 15,750 50%|
327] BRELT) SEFEA-1BICDF 5 | 18 18,000 27,000 50%| 2
328] SRR (Tv. ABHE | EEEA1BREICDOE EE [ 18%RS 12,000} 18,000 50%| BE
[329] BT BB, msh— |[2EEA-FACOF 548 | *H 42,000] 63,000 50%|
330] - 5E) EEFEA-1BICDF 5 | 18 72,0000 108,000 50%
331] BERIE (T, AMBHE |EEEA1ERICOE EA | 1BERS 6,000} 9,000 50%
332] BT RIBE. TS |[2EER-FACOF 548 | *H 21,0001 31,500 50%
333] BEUT) EEFEA-1BICDF 5 | 18 36,000 54,000 50%
334] BERIE (T A | EEEA1ERICOE E5A | 1BERS 12,000] 18,000 50%
335 HEELAVES . H2EER-FHICDF a8 | *H 42,000] 63,000 50%
336 ") LEEA-1BISDE a8 18 72,000] 108,000 50%
337] SIS (P LS. AS [ ZEER BRI O H4E | 1B5RS 24,0001 36,000 50%
338] HEMNTZEE. W (2EER-FAICDOE a8 | *8 84,0001 126,000 50%
339] ") 2EEA-1BISOE a8 18 144,000f 216,000 50%
340 AE-BE- 1HEICDF Hh | 1BERS 1,500] 2,250 50%
[341] AE-BE-#HIZD& 548 | *H 5,250} 7,870 50%
342 AE-BE-1HIDE 5 | 18 9,000 13500 50%
343] BEHiE (7. A% |CH-DE- 1BHICOZF a8 | 18 1,200} 1,800 50%
[344] BWRLEVMES . Wit [CE-DE-FHICDE 548 | *H 4,200] 6,300 50%
345] —f-FE) CHE-DE-1HIZDZ a8 18 7,200] 10,800 50%
346] EME-FE-1BRICDF aE | 1E5RS 300} 450 50%
347] EE-FE-$¥HIZDE 548 | *H 1,050] 1,550 48%
348 EE-FE-1B[CDF 5 | 18 1,800] 2,700 50%
349] A -BE - 1BR[CDE aE | 1E5RS 750} 1,100 47%
350] AE-BE-#HIZ D& 548 | *H 2,620] 3,930 50%
351 AE-BE-1HIDE 5 | 18 4,500] 6,750 50%
352] BEHE (7. A% |CH-DE- 1BHICOZF a8 | 18 600} 900 50%
353] BWLZVES Tt [CE-DE-FHICDE 548 | *H 2,100} 3,150 50%
354 EREUT) CHE-DE-1HIZDF &8 | 18 3,600} 5,400 50%
355) EM-FE- 1B OE GF | 16 150] 220 47%
356] EE-FE-FHIZDOE a8 | #H 520} 780 50%
357 EE-FE-1BICD& 5 | 18 900] 1,350 50%
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358] AE -BE- 1BRICOF HE | 1B5RS 3,000} 4,500 50%
359) AE-BE-$HIZDE 58 | #H 10,500f 15,750 50%
360] AE-BE-1HIZDE a5 18 18,0001 27,000 50%
361] BEHIE (7L, Ats [CE-DE- 1HHICOE Hf | 1ERS 2,400] 3,600 50%
362 HEBUIRLALMSE, T|CHE-DE-FHICDE a8 | *H 8,400 12,600 50%
363] ) CHE-DE-1HIZDE a5 18 14,400 21,600 50%
364 Ef-FE- 18RS DS HF | 1BRS 600] 900 50%
365 E@-FE-FHICOE 58 | ¥H 2,100] 3,150 50%
366 EE-FE-1HICD af 1H 3,600= 5,400 50%
367 ertrn . [EEEAEEICOE HE | 18R] 4,800 7,200 50%
368 R D VR S EEm A OE &8 | A 16,800 25200 50%
369 i SEFER-1B[CDF a5 18 28,800= 43,200 50%
370 ertrn . [EEEAEEICOE HE | 18R] 2,400 3,600 50%
371 B IR EmEm-FACOE | &% | ¥H s400] 12600]  50%
372 e SEFER-1B[CDF a5 18 14,400= 21,600 50%
373 ertrm o SEEAT1BRICOZ HE | 18R] 9,600 14,400 50%
574 iy A Py 7 T T S W M T 33,600] 50400 50%
375) " SEEMA-1BIZDF 5E | 16 57,600] 86,400 50%
376 AE-BE- 1BEICDF HA | 1BRS 1,200] 1,800 50%
377 AHE-BE-FBICDE a8 | #H 4,200} 6,300 50%
378 AmE-BE-1RAIZDE af 1H 7,200} 10,800 50%
379 . ... [CHE-DE-1ERICDF HE | 1B5R] 960 1,440 50%
380] s oV CE DE-FHo% | £& | ¥8 3360 _ 5040| _ 50%
381] - CE-DE-1H[DF 55 | 18 5,760] 8,640 50%
382 Ef-FE- 18RS D HA | 1S5RS 240] 360 50%
383 E@-FE-FHICOF a8 | #H 840] 1,260 50%
384 E@-FE-1HICDE af 1H 1,440] 2,160 50%
385 AE-BE- 1B DF HA | 1S5RS 600] 900 50%
386 AHE-BE-F¥BICDE 58 | ¥H 2,100] 3,150 50%| R
387, AE-BE-1RAIZDE af 1H 3,600= 5,400 50% T
388, . . A .. |CH-DE-1BHIZDE =] ! 480 720 50%
sas|= U X BB T R omDm-FALOF | &% | *B 1680] 2520 504
[390] CHE-DE-1HIZDZE a8 18 2,880} 4,320 50%| 42
301] E@E-FE-1BREICDOZF HE | 18RS 120§ 180 50%| BE
392 E@-FE-FHITOF a8 | #H 420] 630 50%| &
393 E@-FE-1HICDE af 1H 720] 1,080 50%
394 AE-BE- 1HEICDZF Hh | 1BERS 2,400] 3,600 50%
395 AHE-BE-FBICDE a8 | #H 8,400 12,600 50%
396] AE-BE-1HIDE a5 18 14,4oo= 21,600 50%
397 ettim o C -DE - 1F§RIIC D& HE | 18RS 1,920 2,880 50%
39| BN B CE Dm-FRo% | £& | ¥8 6720 __10,080| _ 50%
[399) =E CHE-DE-1HIDE a5 18 11,5201 17,280 50%
400 EM-FE- 1BRIC D Hh | 1BERS 480] 720 50%
401 E@-FE-FHITOF a8 | #H 1,680] 2,520 50%
402] EE-FE-1B[CDF a5 18 z,ssoI 4,320 50%
403 ipe 1 L [ZEERTEECOE G5 | 18R] 16,000 24,000 50%
404 P AN Y- 1 I Tty 545 | #H 56,000] 84,000 50%
405] EEERA-1BICOE a5 1B 96,000= 144,000 50%
406 eriro . | ZEER1BECOE G5 | 165R] 8,000 12,000 50%
407 B R S mEm R a o= &8 | A 28,000 42,000 50%
408 e £EEA-1AICOF a5 1B 48,000= 72,000 50%
409 ererm o SEERIBEICOE G5 | 165R] 32,000 48,000 50%
410 U Y- 1 IR Tt S &8 | A 112,000 168,000 50%
[411) ' £EEA-1AICOF a5 1B 192,000f 288,000 50%
412 AE-BE- 1HREICDOZF HA | 1S5RS 4,000} 6,000 50%
413] AE-BE-#HIZ D& 548 | *H 14,000 21,000 50%
[414] A -BE-1HICDE a5 1B z4,ooo= 36,000 50%
415 s g1 .. |CE-DE- 1EFRIIDF G5 | 165R] 3,200 4,800 50%
416 B & G DE - FAIOF 55 | *H 11,000] __ 16.800 50%
[417] CHEH-DE-1HIZDZ a5 1B 19,200 28,800 50%
418 E@E-FE- 18RS DS af | 1BFRS 800] 1,200 50%
[419] EE-FE-FHIZDOE a8 | #H 2,800} 4,200 50%
420 EE-FE-1HITDE aE 1B 4,800] 7,200 50%
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[421] AE -BE- 1BRICOF HE | 18RS 2,000] 3,000 50%
422] AE-BE-}HIZDE 58 | #H 7,000] 10,500 50%
423] AE-BE-1HIZDZ a5 1H 12,000= 18,000 50%
424 ertin .. [CHE-DE-1FRIZDOF HE | 18RS 1,600 2,400 50%
425 VB CE Dm-FAo% | && | *8 5.600] _ 8400| _ 50%
426 R CHE-DE-1BIZDF a5 1H 9,600 14,400 50%
427 Ef-FE- 18RS DS HF | 1BRS 400] 600 50%
428] EE-FE-¥HITDE 58 | ¥H 1,400} 2,100 50%
429) EE-FE-1HISDZ a5 18 2,400] 3,600 50%
430) AT -BE - 1B S DZF HE | 18RS 8,000f 12,000 50%
431] AE-BE-F}HIZDE a4 | *H 28,000] 42,000 50%
432] AE-BE-1HIZDZF a5 18 48,000= 72,000 50%
433 ettim s CHE-DE - 1B IS DF HE | 18RS 6,400 9,600 50%
434 BRSO B CEDm-FRLo% | && | ¥8 22400 33 600) _ 50%
435 == CHE-DE-1HIZDZF a5 18 38,400 57,600 50%
436 Ef-FE- 18RS DS HF | 1BRS 1,600] 2,400 50%
437 EE-FE-¥HITDE a4 | *H 5,600] 8,400 50%
438] EE-FE-1HISDZF a5 1H 9,600 14,400 50%
[430|E/%- 2K )L 2| s | 18RS 2,000] 3,000 50%
440/ TA T SAO | oo A - BE EamE | 165Rd 500] 750 50%
441 e CHE-DE s | 18RS 400] 600 50%
442 EM-FE s | 18RS 100} 150 50%
443 1R ICOE HA | 1S5RS 100} 150 50%
444 REET EX:INPES a8 | #H 350] 520 49%
[445] 1HICDF a8 | 18 600} 900 50%
446 1B/ ICOE HA | 1S5RS 200] 300 50%
447] SBE2F(F3  [EHIIOE 548 | *H8 700} 1,050 50%
448] 1HICDF a8 | 18 1,200] 1,800 50%| -
449 1B/ ICOE HA | 1S5RS 150} 200 33%| s
450 REE4 EX:INPES a8 | #H 520] 780 50% |
451 1HICDF 58 | 18 900} 1,350 50%)| .,
452] — - FA BEA | 1A-1E 100] 150 50%| e
453] Fo—=2TF E#HE1RE—R-F5 [ BA 1,000} 1,500 50%| e
454 BRELT BA | IA-1E 50] Bl & —| =
455 EvFoi=<iy BRZE| 1&-1E 1,000] 1,500 50%)| *
456 WX e S BRZE| 113 1,000] 1,500 50%
457 YRS A | 1E-1H 600] 900 50%
458 Ty — R 16 BELL 100 —
459 o wd = |9:00~12:00 5E | SHR 1,800] 1,980 10%
460) PEHER [y co~17.00 | 56 | omM 3000 3300 10%
461] gg-mea o [17:00~22:00 | &% | 5B 3,000} 3,300 10%
462] 1B E Hh | 1BERS GOOI 650 8%
463 o wd = |9:00~12:00 5E | SHR 900 990 10%
464 @E&{\i@;&@ 12:00~17:00 | & | SEMH 1500 1,650 10%
465) sy [17:00~22:00 | &% | 5B 1,500} 1,650 10%
466 1HRIC L Hh | 1BERS 3oo= 330 10%
467 o 9:00~12:00 545 | 3HR 5,400 5,940 10%
[468] 472;%%*”2‘4?@ 12:00~17:00 | &4 | 5&H 9,000] 9,000 10%
o I e T M m— —
470 z= et 40 1RfRIC 105 [E , , b
| ™ T AR | ERES gy |2200~12:00 55 | 3 2,700] 2,970 10%
[472] @;%%*’%ﬁ_ﬁ? 12:00~17:00 | && | 58 4500 4950 10%
[473] AT 17:00~22:00 | &% | SERS 4,500] 4,950 10%
474 1HRIC L HA | 1S5RS 900] 990 10%
[475] 9:00~12:00 a%E | 3HR 7,200} 7,920 10%
476 TS AHH [12:00~17:00 &8 | SER 12,000] 13,200 10%
[477] EHIRLALMEE [17:00~22:00 54 | SHRS 12,000f 13,200 10%
478 1HRIC L HA | 1S5RS 2,400] 2,640 10%
[479] 9:00~12:00 545 | 3ER 14,400f 15,840 10%
480) TS A5 |12:00~17:00 58 | S 24,000] 26,400 10%
481] EHIRTDHE  [17:00~22:00 5A | S 24,0001 26,400 10%
482 1ERECE af [ 1F5RS 4,800] 5,280 10%
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483 BRAMERA (1/280F) a5 2EEAN/2] 2EERD1/2 —
484] IS [GALGWNMSE (—#R-F5) BA [ 1A-1E 100} 150 50%
485] SELBVNES (FEEUT) BA | 1A-1E 50] 70 40%
486] 9:00~12:00 5% | 3ERS 400} 600 50%
487] T ABEEY [12:00~17:00 | &F | 5k 800} 1,200 50%
488] WLENES 17:00~22:00 | &% | 5B 1,000} 1,500 50%
489) BRI & aF | 165RS 200} 300 50%
490] 9:00~12:00 a%& | 3ERS 1,600] 2,400 50%
491] T AIBHEEM [12:00~17:00 | &F | 5k 3,200} 4,800 50%
492] Y5545 17:00~22:00 | &% | SERS 4,000] 6,000 50%
493] BRI & aF | 165RS 800} 1,200 50%
[494] 9:00~12:00 a%& | 3ERS 3,800} 5,700 50%
495 w5 [7eust A5 [12:00~17:00 H5E | 5B 6,400] 9,600 50%
496] EHURLELNME S [17:00~22:00 | 5% | 5B 8,300f 12,450 50%
497] BRI & aF | 165RS 1,600] 2,400 50%
298] 9:00~12:00 5% | 3ERS 7,600] 11,400 50%
499] TS ABH [12:00~17:00 | &F | 5Bk 12,800] 19,200 50%
[500] EHMNT HIHEE  [17:00~22:00 | HF | SRR 16,600] 24,900 50%
[501] 1ML aF | 165RS 3,300} 4,950 50%
502} B A (1/2L0F) =k:] 2EEAO/2 2EHEAND1/2 —
503 SELBWNMES (—HR-F4) BA [1A-1E 100] 150 50%
504] SELENES (FEEUT) BEA | 1A-1E 50] 70 40%
[505] 9:00~12:00 545 | 3HRS 300} 450 50%
[506] T ASHEEY [12:00~17:00 | &F | 5k 400} 600 50%
[507] RLEWNMEE 17:00~22:00 | &% | SERS 600} 900 50%
[508] 1B E aF | 165RS 100] 150 50%
500| RFAEEE 9:00~12:00 545 | 3HRS 600} 900 50%
[510] T AIBHEEM [12:00~17:00 | &F | 5k 800} 1,200 50%
[511] Y Hi5E 17:00~22:00 | &% | SERS 1,200] 1,800 50%| R
[512] 1B E aF | 165RS 200} 300 50%| 7
513] 9:00~12:00 HE | 3ER 1,100} 1,650 50%| |
514 2RI | 7S AEH [12:00~17:00 HA | SR 1,900] 2,850 50%| Y
[515] EHRLIZLMES [17:00~22:00 | &F | SRR 2,400} 3,600 50%| 42
[516] BRI & HE | 1B5RS 400} 600 50%| FE
[517] 9:00~12:00 G | 3 2,200} 3,300 50%| &
[518] TS, AB# [12:00~17:00 | &F | SR 3,800} 5,700 50%
[519] EHMNTHIHEE  [17:00~22:00 | HF | SRR 4,800] 7,200 50%
520] BRI L a4 | 1B5RS 900] 1,350 50%
521] B A (1/2LF) =Lzl 2EEAO1/2 2EHEAND1/2 —
522] aHLBWMES (—fik-F4) BA [ 1TA-1E 100] 150 50%
523] SELAEVNES (FEEUT) BA | 1A-1E 50] 70 40%
[524] P TAEISDF BA [ 1A-1E 100] 150 50%
525] — EECIEE EA 1,000} 1,500 50%
526] SEE R | 1oo= 150 50%
527 m g o 4 _19:00~12:00 EmZE| 1@ 1,000 1,500 50%
[528] &Egéﬁiu}zu& 12:00~17:00 |H&%| 1M 1,000} 1,500 50%
[529] p—— 17:00~22:00 |f@&%| 1@ 1,000] 1,500 50%
[530] A iR [200~12:00 [@BR%E| (H 2,000} 3,000 50%
[531] e 12:00~17:00 |H&%| 1@ 2,000} 3,000 50%
532] 17:00~22:00 |f@&%| 1@ 2,000} 3,000 50%
533] Sr— ERE| 1H MEZL 100 —
534] YRS (BA) a8 [ 1E-1B )] BELZL 900 —
535 5 R T (B4)) H8 | 1E-1B ) BELGL 450 —
[536] wg |[REE HE | 1B5RS 250 280 12%
537] £ B NFELUT -FZE-SRE| HF | 1856H 120] 130 8%
538] 15 am | RPE aE | 1E5RS 500} 550 10%
[539] NFELUT -FZE-SRE| HF | 1856 240} 250 4%
[540| FHE#AE 4 |2 B GRS (REREA- M) BR%E| 185 350] 520 49%
[541|E 2 BiLE5 (REEH-2H) B 165RS 700} 1,050 50%
[542] —HR-FHE HA 1@ 1R 200] 300 50%
543] F=R3—hk NFELT-PEE-SRE| 58 [1E- 18R] 100] 150 50%
544] & R B 5% | 1m - 1 R 200} 300 50%
545 & ARoE (5T gg | s8] |ELL] 450 -




. . BE R E () AT
No| HEER#A HEE-RREQOEM omm | B BITHE wER |BEasen| B
e |oolmx| R
546 $R BA [ 1A-1E 100] 150 50%
547] D R 2 - BEA | A IE 200] 300 50%
548] AR — ik BA | 1A-1E 300} 450 50%
549 FH/HB &G KehE= TRITERZAT [EREHEM i | EDH ity Bl bR -
i 2 Ve oL {5 A% ERE| 1@ 300} HilBR —
551|%— A TRICEREAL | SN &% | HIEDH 1,000] Al B -
552] ] 3 A% BRE| 1@ 300} HIlBR —
553] Y ER5E (BA) HE [ 1E-1B )] B|ELL 900 —
554 Y5 R 5T (B HL) a8 | UE-1B ) B|ELL 450 -
555] SEEAOEE S8 | 1E5RS 600] 650 8%
556} BAERI/2UTDHE G | 165RS 300= 330 10%
557 - —H-FE BA | 1A-1E 100 150 50%
558] 7 R h e 6 | AR PEELR BA [1A1E 50] 70 40%
559) Y@ ER5E (BA) HE [ 1E-1B )] B|ELL 900 —
560 Y& ER5E (B4) HE [ 1E-1B )] B|ELL 450 —
561 g | RPE S8 | 1E5RS 250] 280 12%
562] 2 BHEIS hepnvoese g | 54 | 1EGRE 120] 130 8%
563] am | BPE aF | 165RS 500} 550 10%
564] hpnToese g | (54 | 1EERE 240= 250 4%
565 = +E EemEE | 1656 350 520 49%
566] % B HILH (ERRER) 2@ B2 15H 700} 1,050 50%
567] RS (T—h—H) BA [1&-30% 100] BIlBR —
568] HNEREUTEA EA 18 100] 150 50%
[569] HNERE L TEE EA 18 70] 100 43%
[570] TREREUTEBRAAE] BEA 14 5,000} 7,500 50%
571] NS LAMEA EA 18 200] 300 50%
[572| /MR AR R 2 i NE 52 LA A EA 18 150= 220 47% i
573|E smw o o |MAERUNERFAE | BA | 15 10,000 15,000 50%| 7
574 TIILRIANTE e ERELTEA BA | 18 150] 220 47%| |
575] ms ERE U TEE EA 18 120] 180 50%| v
[576] TOASREUTEBRAAE] BEA 14 7,500 11,250 50%| 42
[577] ot ERRUSMEA BA | 18 300} 450 50%| F&
578] st £ &L E A EA 18 250] 370 48%| 3
[579) ho ERLMERFIRE | BA | 15 15,000] 22,5500 50%
580] JZ9VRTNT5(H5T -R—IL) ER%E| 1tk 100] 150 50%
581] 29—k — - FA aE | 165RS 200} 300 50%
582] — NFELUT -FZE-SRE| 58 | 1856HE 100] 150 50%
583] T=R3— (KRR MR B 165R9 200} 300 50%
584 5 R (B H) H8 | 1E-1B ) BELL 450 —
585 e im . 4 2| 5H | (BT 740] 1,100 49%
586] 1\ 4t 3 RhEs-2aa s *m@ Gh | 1B 370} 550 49%
587 RS (BW) A | 1E-1H RMELEL 900 —
588 5 R (BHY) H8 | 1E-1B ) BELL 450 —
589 — £\ 5H | 1EERS 600] 650 8%
590] EAEAI/2UT| SF | 1658 3oo= 330 10%
591 Fres = ~ 83 A _'FXL'$EE 1@A 1*'1@ 100 150 50%
5oz hinfareg |SHEE (SRALBVWER)  men P BA | 1A2M 50] 70 40%
593] NS aE | 165RS 100] 150 50%
594] B 5T (B ) a8 [ 1E-1B )] BELZL 900 —
595 5 R (B4)) 8 | 1E-1B ) BELGL 450 —
596(mi s hpuam| 2 B BIL 5 (TR BB BR e 5% | 18R 3508 500 43%
[597] BARE [p  [EE~178 BA | 18RS 100] 150 50%
598 (= 1785 ~ 228 BA | 185R8 150= 200 33%
599 s o | ey [HECFE R ~ 178 A | 18RS 150 200 33%
o0o| BRI A8 2B 2 |) A G BA | _15m 230] 340 48%
[601|5A70 teag [BABR [ [9E~ 178 BA | 18568 50} 70 40%
[602) e 1785 ~228% BA | 180 80| 120 50%
603] BB e [T BA | 18RS ) | 120 50%
604 %) 1785 ~ 228% BA | 165RS 120] 180 50%
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BEHE () Bl
No| 5% HE-BREOLH BRSNS 2 | meone B2k [Bonen =
nue lootgs=|i
605 TROBE~3ENES) | &4 | 4BH 3,oooi 4,500 50%
606] TR (B~ 1TENES) | &8 | 48/ 3,000 4,500 50%
[607] J—REE |58F [TROTBE~2B05BS) | 548 | 5&E 4,000] 6,000 50%
[608] 15 A o OB~ 13BENER) | &8 | 48/ 4,500] 6,750 50%
609 o (13~ 1TBNES) | &8 | 48/ 4,500] 6,750 50%
[610] o (1T~ 22BNEE) | &85 | 5B 6,000] 9,000 50%
[611] TR OB~ 13ENER) | &8 | 4B/ 3,000= 4500 50% _;;
[612] TR (B~ 1THNES) | &8 | 48/ 3,000 4,500 50%| 7R
613|AsE oS50z |RE—FEs (58 [TRGTE~2B0B8) | 54 | 5BE 4,000] 6,000 50%| |
BOPZIASZAL:: A o OB~ 13BNER) | &F | 4B/ 4,500] 6,750 50%| *V
[615|SAIJO o (13~ 1TBNES) | &8 | 48/ 4,500] 6,750 50%| 4
[616] Tt (7B~ 22B0IEE) [ 58 | 56H 6.000] 9,000 50%| BR
[617] TR OB~ 13ENER) | &8 | 4B/ 3,000= 4,500 50%| &
[618] TR (B~ 1THNES) | &8 | 48/ 3,000 4500 50%
[619] RUAYY |E8FH [TROTE~2B0ES) | 54 | 5K/ 4,000] 6,000 50%
620] TEkis  |B o OB~ 13BNER) | &F | 4B/ 4,500] 6,750 50%
[621] o (13~ 1TBNES) | &8 | 48/ 4,500] 6,750 50%
[622] mot (1T ~2B05E) | &4 | 5EE 6,000 9,000 50%
623 &R (E5) 58 [ 1E-18 HELZL 450 —
624 EEELET — — —
625 e — — —
[626] SR TR — — —
[627] BELPER — — —
623 ETRTER = = —
[629) BT TR = = =
[630) EEERS — — —
[631] FERR 2R — — —
[632] e — — —
[633] NSRS — — —
634 FE/INER — — —
635 BEINER = = —
636 KENERR — — —
637 ERFR — — —
633 RN FR = = . —
639 B INERR — — EE)i5 —
(640 7 XX i;;“ﬁll\i#fi — - 1,000F':J/h| —1 &
(01| BHIFBO [ 22z - - mELL —|
642] KEINER — — KEEE —| %
[643] FHEIINFR — — 200 /hf —|
644 B % /NERR — — —
645 EHINER = = =
(646 ZBEINER = = =
[647] ER TR = = =
643 EREINER = = =
[649) =FINFR — — —
(650) AN — — —
651 ERINER — — —
657 FBRINER = = =
653 mEINER — — —
[654] HE/ R = = =
655] R = = —
[656] FINFR = = =
657 I INERR = = —
658 AIR/NER — — —
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) EHE K

) BEHE () AT
No| HEE%% BE-RRFEOH omm | B | BINE wER lmauen| B
‘: e |sotas| R
[659] R ~ 12 RS 14,000 21,000 50%
660] 138~ 178% HE | 48RS 19,000 28,500 50%
[661] — 1865 ~ 228 HA | 48RS 22,000 33,000 50%
[662] OB ~ 17k HE | 8iERd 28,000 42,000 50%
[663] 1365 ~ 228 HE | 9R5RS 41,000 61,500 50%
664] 9B ~ 228 58 | 13850 50,000 75,000 50%
[665] 9% ~ 128% REEED 11,000 16,500 50%
[666] 1365 ~ 1 78% HE | 48RS 15,000 22,500 50%
667 1865 ~ 228 HE | 485RS 18,000 27,000 50%
668 K= (BB ) 9RE~178% 55 | 8i5Rd 22,000 33,000 50%
[669] 1365 ~ 228 58 | 9R5RY 33,000 49,500 50%
[670] 9B ~ 228 58 | 13850 40,000 60,000 50%
[671] 9% ~ 128% REEED 6,000 9,000 50%
[672] 1365 ~ 178F HE | 485RS 8,000 12,000 50%
[673] N 1865 ~ 228 HE | 485RS 9,000 13,500 50%
674] 9RE~178% 55 | 8i5Rd 12,000 18,000 50%
[675] 1365 ~ 228 58 | 9i5RE 17,000 25,500 50%
[676] 9% ~228% HE | 13856 20,000 30,000 50%
[677] R ~ 128% HH | 3E5RT 900 1,170 30%
[678] 1385~ 178% HE | 4B5RS 1,200 1,560 30%
679 " - 1865 ~ 228% HE | 4B5RS 1,500 1,950 30%
680) RE1 (=) I~ 1718 58 | 8B 1,800 2.340 30%
[681] 1305 ~228% HE | BRI 2,700 3510 30%
[682] % ~228% HE | 13856 3,200 4,160 30%
[683] O ~ 128% HH | 3B5RS 900 1,220 36%
[684] 1385~ 178% HE | 4B5RS 1,200 1,620 35%
685 0 () 1805 ~ 228% HE | 4B5RS 1,500 2,030 35%
[686] 9RE~178% HH | 8RS 1,800 2,430 35%
687] 1385 ~ 2205 HA | 9BRS 2,700 3,650 35%| £t
] PO 9B ~ 2285 5A | 138 3,200 4,320 35%| =
e 9B~ 128F RS 900 1,220 36%| %
[690] 13B~ 178 HE | 48RS 1,200 1,620 35% &
[691] () 180 ~ 228F GE | 48RS 1,500 2,030 35%| &%
692] 9RE~178% HH | 8RS 1,800 2,430 35%
[693] 1365 ~228% HE | BRI 2,700 3,650 35%
[694] OBF ~ 228 58 | 13E5RE 3,200 4,320 35%
[695] 9% ~ 128% HE | 3RS 300 410 37%
[696] 1385~ 178% HE | 4B5RS 400 540 35%
697) HE4(K) 185 ~ 22B% A | 4B5R] 500 680 36%
698] 9RE~178% HH | 8RS 600 810 35%
[699] 1305 ~228% HE | BRI 900 1,220 36%
[700] 9% ~228% HE | 13856 1,100 1,490 35%
[701] 9% ~ 128% HH | 3RS 300 410 37%
[702] 138~ 178% HE | 4B5RS 400 540 35%
703 R 1805 ~ 228% HE | 4B5RS 500 680 36%
704] RESHE OB~ 1765 54 | 8 600 810 35%
705 130F ~ 228F 58 | 9KAE 900 1,220 36%
706 9BF ~ 226 58 | 136%RS 1,100 1,490 35%
[707] BRE HE | 1B5RS 700 950 36%
[708] BHE=E HE | 1B5RS 300 310 3%
[709] B = HE | 1B5RS 300 310 3%
710} = HE | 1B5RS 300 310 3%
[711] JN—HILE HE | 1B5RS 900 1,220 36%
[712] BEE1(X) HE | 1B5RS 200 270 35%
713] BE =201 HE | 1B5RS 100 140 40%
[714] BE=3(K) HE | 1B5RS 200 270 35%
715] REE HE | 1B5RS 400 540 35%
716} BEASEE HE | 1B5RS 1,500 1,570 5%
[717] EERFR (KH—IL) ERE| 1X-1E 4,000 4,190 5%
718, s#aslE |[EERRUNME—IL) ERE|1X-1E 2,000 2,100 5%
719 FiER ERE] 1X-1E 6,000 7,800 30%




) el 5 SR () AT
No| FHEERA BEE-HFRFORKTH omm | B BRiTHE WER [BEiouen| B
DL |ontRE| K
[720] TS BRZ[1X-10E 1,000 1,050 5%
721] WHE-MHE BRZ [ 1X-1E 1,500 1,570 5%
[722] 5 BRZ[ 1510 200 210 5%
[723] ORERRIFSH/SRIL ERE | 1X-1E 1,000 1,050 5%
[724] ERER BRZ [ 1W-1E 1,500 1,950 30%
725] EHIE Ba%E| 1k-1E 200 210 5%
[726] HYE BRE| 1510 100 110 10%
[727] HELA BaE| 1k-1E 200 210 5%
728 LR REMRE fHmmE| 1%-1E 200 210 5%
729 SRR EEREAE EEARE S 200 210 5%
[730] HhHFY BaE| 1k-1E 1,000 1,050 5%
731] BEE-7) BaE| 1k-1E 1,000 1,050 5%
732 ERGREYM ERE|1X-1E 500 520 4%
733, DESE) EmZE| 16-16 200 210 5%
734] EEEEEEES M) ERE| 1810 500 520 4%
735 EREEEA ERE| 1810 100 110 10%
736 RER & EE ERE|1X-1E 500 520 4%
737, A EmZE| 1K-1E 300 310 3%
738] EEXERRES ERZ[1X-1E 2,000 3,100 55%
739) TOE=F7LYRAR a5 4 [ REE] 1516 1,000 1,050 5%
[740] YRR 3L SAk B 1510 1,500 1,570 5%
[741] R—F—51F B 1510 800 840 5%
| 742) Fork— LB A IV e R ER%E| 15)-1E 1,500 1,570 5%
[743] Yt EV e P2 B 1510 1,000 1,050 5%
[744] i RARSFERSAF EaE 1X1m 2,000 2,100 5%
745 ZOVESARERRYES A EaR%E| 151-1E 500 520 4%
[746] S =) ZiRyRSAk B 1510 2,000 2,100 5%
[747] F—=A2BILZARYRS A B 1510 600 630 5%
[748] L E—J40—ECRRuNSA+ [ REZ[ 1&8-1H 1,000 1,050 5| 4
749 AR ES EaRE|1X-1E 1,500 1,570 5%| &
750\ 8B iR R—F—51F BRZE| 15-1H 600 630 5% ;;
751|882 PR3 SAk B 1510 900 940 4%| =
752] INR— VB [T 9R—R) T FSAF BRE| 1515 700 730 4% 'f’%
753 BHEE  [07 KU URSAE B2 15010 700 730 4%| ®
754 AR ARRRYRSAE B2 15010 600 630 5%
755 S—)2 T ZiRyRSAk B2 15010 1,000 1,050 5%
756/ U E—J+0—ECRRuNSAE [ BEZ[1&8-1H 800 840 5%
757] BERARRYNSAE BEaE| 1510 300 310 3%
758] Khh— [BBHRERE BaE| 1510 1,000 1,050 5%
759 IVIRERSR  |SARREUE ERE| 1A-1E 100 110 10%
760} & BABESERE BRE| tkw-1E 200 210 5%
761] h5—T11L5— % | 141 =& =8 —
762] BERES (KE—L) EaZ [ 1K1 3,000 3,140 5%
763 3RMmYIAY (KK—IL) EmZE| 1K-1E 1,000 1,050 5%
[764] BEAEEE (Kh—IL) EaZ [ 1K1 1,500 1,570 5%
765 BERES UhE—IL) EaZ [ 1K1 2,000 2,100 5%
766] RTF—CRAE—H— EaRZ [ 1K1 1,000 1,050 5%
767] B [Fha kY RE—H— ERZ 1K1 1,000 1,050 5%
768 hEvhTox BaE| 1510 500 520 4%
769 swmp [CDTL—V— BaE| 15610 500 520 4%
770} FERR TN A —F AT I — | mEE| & 1H 500 520 4%
771] MDT ¥ BaE| 1510 500 520 4%
[772] ERARDNERE—H—FUTM)  [RBEZE[1X-1E 500 520 4%
773] FAFIVI=AY BaE| 14510 500 520 4%
[774] AT =AY BaE| 14510 600 630 5%
775 JAYLAIAD BaE| 14510 1,000 1,050 5%
776] RAIRBUR BaE| 1510 200 210 5%
[777] HABSEE BRE| kw1 200 210 5%
778 HEEAVETR EaZ [ 1X-1E 1,000 1,050 5%
[779] zot |[REEAVEE EaZ [ 1X-1E 1,000 1,050 5%
[780] IN—HIEEEZR EaZ | 1X-1E 2,000 2,100 5%
781 BRISBEAVERR EaZ 1K1 2,500 2,620 5%
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) proesonl ) SR () il
No| FHEERA BEE-HFRFORKTH omm | B BRiTHE wER |BEasen| B
DL |ontRE| K
782, B REERFER AT L BRE 1K1 10,000 10,480 5%
783 16SURERGERI RSO Uvh—V) | BEE ] 1X-1EH 3,000 3,140 5%
[784] 35163 RAMEHEGH RSN (Kt—) [ FRE| 1X-1@ 4,500 4710 5%
785 E7 /B4 9z (Rbc—L-hdx—L) | BRZE] 1510 6,000 8,000 33%
E E7/(R—EURLI7—) (K==L | [REF 18 -1EH 6,000 8,000 33%
787] E7/(¥2/\)(UN—HILE) BRE|1&-10 3,000 4,000 33%
788| A &L | E Dt BRRBETHIOC25—RIV—VEED) | ER%E [ 1X-1@ 2,000 3,100 55%
789 |£E R—BTINTAVLRVRT s ER%E| 1xX-1E 500 520 4%
[790] R—5T L1631 BRE EmZE| 16-16 500 520 4%
791 ATAFBRERE EmZE| 16-16 500 520 4%
792] Rl BR[| 151 200 210 5%
793 BR/AR)L EmZE| 16-16 200 210 5%
794 A B R (D) ERE | kw1 200 210 5%
795 BEE a8 1A 42,000 42,000 0%
[796] R ~ 128% G548 | 38R 11,000 16,500 50%
[797] 1305 ~ 1 78F HE | 48RS 15,000 22,500 50%
[798] S 1805 ~ 220F HE | 48RS 18,000 27,000 50%
[799] O ~ 1 7B% g | 8EERE 22,000 33,000 50%
[800] 1305 ~ 228F HE | 9BERS 33,000 49,500 50%
801] R ~ 228 HA | 138 40,000 60,000 50%
[802] R ~ 128% hf | 3ERS 3,300 4,950 50%
803 13BF ~ 170 SA | ARFR 4,500 6,750 50%
804 . N 180 ~ 220 5E | 4B 5,400 8,100 50%
805 A= (REDH) O~ 176 58 | 8Em 6,600 9,900 50%
[806] 1305 ~ 228% HA | 9RSRS 9,900 14,850 50%
[807] R ~ 228 HA | 138 12,000 18,000 50%
808] R ~ 128% hf | 3ERS 5,500 8,250 50%
809 135~ 170 SA | ARFR 7,500 11,250 50%
[810] IR L 180 ~ 220F HE | 48RS 9,000 13,500 50%
811] R ~ 1 7BF hf | oERS 11,000 16,500 50%| #t
[812] 1385 ~ 228% GE | 9RsRE 16,500 24,750 50%| =
813] R ~ 228% HA | 138 20,000 30,000 50%| &
814 O ~ 128 HA | 3R 500 680 36% B
[815] 138~ 170F HA | 4BSRS 800 1,080 35%| &R
810 B2 1885 ~ 2285 GH | 4B 1,000 1,350 35%
817] R ~ 1 7BF hf | SERS 1,200 1,620 35%
18] 1305 ~ 228% HA | 9RSRS 1,800 2,430 35%
EIE P enp R ~ 228 HA | 138 2,000 2,700 35%
820/ g = OB ~ 128% af | 3EFRS 500 680 36%
[821] 1305 ~ 178F A | 48RS 800 1,080 35%
822 22 1885 ~ 2285 GH | 4B 1,000 1,350 35%
[823] R ~ 1 7BF hf | SERS 1,200 1,620 35%
[824] 1305 ~ 228% HA | 9RSRS 1,800 2,430 35%
[825] 9 ~ 228 HA | 138 2,000 2,700 35%
[826] R ~ 128F Hf | 3ERS 500 680 36%
[827] 1305 ~ 1 78F A | 48RS 800 1,080 35%
828 223 1885 ~ 2285 GH | 4B 1,000 1,350 35%
[829)] R ~ 1 7BF Hf | SESRS 1,200 1,620 35%
[830] 1305 ~ 228 HA | 9RSRS 1,800 2,430 35%
831] 9B ~ 2285 G578 | 138 2,000 2,700 35%
832] R ~ 128 Hf | 3ESRS 500 680 36%
[833] 1305 ~ 1 78F HA | 4BSRS 800 1,080 35%
834 224 1885 ~ 2285 GH | 4B 1,000 1,350 35%
835] R ~ 1 7BF Hf | SESRS 1,200 1,620 35%
[836] 1385 ~ 220 HA | 9RSRS 1,800 2,430 35%
837] 9B ~ 2285 G578 | 138 2,000 2,700 35%
838 HE = HA | 1S5RS 200 210 5%
839 RE =2 aF [ 1FFRS 200 210 5%
840] SEEI Hf | 1B5RS 400 420 5%
[841] SHE?2 Hf | 1S5RS 300 310 3%
842] SHES HA | 1ESRS 100 100 0%
[843] HHOELE (2E) e 1H 4,000 4,190 5%
844 B OF LS (EHE) a5 1H 2,000 2,090 4%
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_ el HEHE®E)  [m
No| FHEERA BEE-HFRFORKTH omm | B BRiTHE WER [BEiouen| B
e |oolmx| R
845 EERSR ERE| 1X-1E 4,000 4,190 5%
846 SRR ERE| 1X-1E 1,500 2,000 33%
847 A Y ERE| 1&-1E 1,000 1,050 5%
848 W ERE| 1&-1E 1,000 1,050 5%
849 Fa= ) ERE| 1 -1E 1,000 1,050 5%
850 EER ERE| 11 -1E 1,000 1,050 5%
851 BELA ERE| 11 -1E 300 310 3%
852 EHIE ERE| 11 -1E 300 310 3%
853 FES ERE| 1X-1E 6,200 8,000 29%
854 & ERE| 1&-1E 200 210 5%
855 BEE ARV INF—LRTERR) | HRE| 1R-1H 500 520 4%
856 AsES EmZE| 16-16 200 210 5%
857 EEES-EEEREES ERE| 1X-1E 500 520 4%
858 goRkiE |BXERAEES ERE| 1&8-1E 50 50 0%
859 OB Afras ERE| 11 -1E 100 110 10%
860 Y& ERE| 1&8-1E 100 110 10%
861] EE-hE AR ERE| 11 -1E 200 210 5%
[862] LI —F ERE| 1&-1E 1,000 1,300 30%
863 £R EmZE| 16-16 400 420 5%
864 BWAR (BR3) EmZE| 16-16 350 370 6%
865 RIAAS ERE| 1&-1E 100 110 10%
866 BWAR(1R8) EmZE| 16-16 50 50 0%
867, A EmZE| 16-16 50 50 0%
868 > EmZE| 16-16 50 50 0%
869 3 EmZE| 1K-1E 50 50 0%
870] Frun ERZE| 1E-1E 50 50 0%
871] FroFX ERE| (E-1E 50 50 0%
872 Lo EmZEF| 1@ 50 50 0%
873 FRERIZIES ERE| 1&-1E 2,000 2,100 5%| *t
EIZI YN S PP R ERE| 151-1E 1,000 1,050 5% &
8750 = 7 =RV RS/ ERE| 151-1E 1,000 1,050 5%| ¥
876 F1h—4%—31k ERE| 151-1E 1,000 1,050 5% B
877 FAR—F—F1/F BRZE| 1501 1,000 1,050 5%| #&
878 FIH AR 3V5Mk ERE| 151-1E 1,500 1,570 5%
879 FoH AR IS b ERE| 151-1E 1,500 1,570 5%
880 S LR FEIH AR 35k ERE| 151-1E 1,500 1,570 5%
881 R | RAT AN Ay SAE ERE| 151-1E 1,500 1,570 5%
882 JOVRARRRYRS AR ERE| 151-1E 1,000 1,050 5%
883 =Y T RRYRSAk ERE| 151-1E 1,000 1,050 5%
884] 2T—54k ERE| 151-1E 500 520 4%
885 XRZA+ ERE| 1X-1E 2,000 2,100 5%
886 U E—EVRRYRS b ERE| 1&5-1E 1,000 1,050 5%
887, J+A—EVRRYyRSMk ERE| 1@ 500 520 4%
888, FARREUR EmZE| 1K-1E 100 110 10%
[889)] HF—1ILE— BaZE| 1&k-1E -1 140 —
890 REIRES (I R—IL) ERE| 1X-1E 2,000 2,100 5%
891 TuIN—RYYURSARUNR—IL) [ ERE| 151-1E 1,000 1,050 5%
892 SN LB A7 —1K)J VS ARUINE—L) ERE| 151-1E 1,000 1,050 5%
893 e e e R ERE| 151-1E 1,000 1,050 5%
894 YRR 354k ERE| 151-1E 1,500 1,570 5%
895 J+A—EV AR/ ER%E| 1816 500 520 4%
896 HS—T4ILE— B | 1816 -1 140 —
897 BRLEEE ERE| 1X-1E 3,000 3,140 5%
898 AT—URE—H— ER%E| 1xt-1E 1,000 1,050 5%
899 [FALRY RE—H— R | 1xt-1E 1,000 1,050 5%
[900] ILAR—E—IAOKE(KF—I) | ER%E| 1410 1,000 1,050 5%
[901] FERE |ERAYIMVEE (KF—L) | HSE| 1#-10E 1,000 1,050 5%
902] FALFIVIRAY ERE| 1AX-1E 600 630 5%
[903] DAXLARAZ(NIRE-BA(EVE) | ERE | 14-1[H 600 630 5%
904 DAY LAIAYER—hILF) ERE| 1AX-1E 1,000 1,050 5%
905 AVTUYIAY ERE| 1AX-1E 600 630 5%
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. e ] BE R E () i
No| FHEERA BEE-HFRFORKTH omm | B BRiTHE WER [BEiouen| B
e |oolmx| R
[906] JO7IAFREUK BRE X1 200 210 5%
907 S EIAIREUF BRE X1 200 210 5%
[908] swmap |[PEETYE BRE[ 151 500 520 4%
[909)] el [P BERZE|15-1H 500 520 4%
910] MDT ¥ BRE[ 1510 500 520 4%
[911] F—ToTvF (Kk—IL) BRE[ 1510 1,000 1,050 5%
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